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I , agree to neither give nor receive any help on this

exam from others. I understand that the use of a calculator or communication device on this
exam is academic misconduct. I also understand that providing answers to questions on this
exam to other students is academic misconduct, as is taking or receiving answers to questions
on this exam from other students. Thus, I will cover my answers and not expose my answers
to other students. It is important to me to be a person of integrity and that means ALL
ANSWERS on this exam are my answers. Any violation of these guidelines will result in a

penalty of at least receiving a zero on this exam.

Signed

Binary Choice (9 Questions @ 2 Points Each for a Total of 18 Points)

NoT~ 790 1. To increase tax revenue, the government decides to impose an excise tax. Suppose
JHATD you are told that the price elasticity of demand is less than the price elasticity of
supply. Given this information and holding everything else constant, who will bear
the larger part of the tax burden? Demand LESS ELASTIC THAN svrpLy
T/ - s
io l()Jorzlsumers f? S\\
. Producers Y
>P1
cTl/ / / 1_’/' | P

No r HdA2D 2 Assume that Japan is an exporter of machinery. If at some point international trade

becomes impossible for Japan in this market, how will Japanese consumers’ welfare
ExFeers,

change? ﬂv‘ \ 1 /2 bor

Pworeed
@ Japanese consumer welfare will increase. fosed |- % € Seros ﬂ?CSM

b. Japanese consumer welfare will decrease. Doow 1 oy > AiosED

NoT T30 3. James will increase the quantity of haircuts he consumes by 10% if his income
BAD increases by 5%. And, if his price of fine shampoo increases by 20%, he will decrease
his demand for haircuts by 10%. From information we can conclude that for James:

Haircuts are a normal good, and haircuts and fine shampoo are complements.
b. Haircuts are an inferior good’,‘ and haircuts and fine shampoo are substitutes.
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EATY - 4. Inthe base year, the real prices of goods are always qugl to their nomina}: Pn}:&s.
DEFINITIONA L EW b ]

True
b. False 1
; [ welerht
Na 7 HA1Y 5. Consider an excise tax applied on a good with a ;lmear supply curve: fSuppose thel&

are two demand curves going through the initial equilibrium point. For a given excise
tax, the demand curve that is more elastic will have:

a. Greater consumer tax incidence and smaller deadweight loss than is seen with
the demand curve that is more inelastic.

Smaller consumer tax incidence and greater deadweight loss than is seen with
the demand curve that is more inelastic.

D BANITIONAL ~6. The Average Total Cost (ATC) curve and the Average Variable Cost (AVC) curve
EAS \f intersect the Marginal Cost (MC) Curve at their points.

(‘2 Minimum
b. Maximum

6,4'5 7/ 7. In a perfectly competitive industry, entry of firms will occur until

Q Each firm in the industry earns zero economic profits in the long run.
b. Marginal cost equals marginal revenue at each firm’s level of production.

> THIS (S TRVE N SR & LR ¢ BNOT fA(Fovi EVIRYD
(T3S THE PROFIT MAXImIZ4TIoN RUVLE
&, ASY - 8 The domestic price of corn in Malaysia is higher than the world price of corn. When
! % On

Malaysia opens its corn market to trade,

@ Domestic consumer surplus increases and domestic producer su%l}g? k7 e
decreases. P

b. Domestic consumer surplus decreases and domestic producer surplus Do
increases.

CS‘frac{c > cré/o.ru/ o~ @

— Av < elo
N o7 HARD 9. If Anna, an owner of a flower kiosk, increases the price of tulips by 10%, the quantity

of tulips demanded falls by 15%. Given this information and holding everything else
constant, what should Anna do in order to increase her total revenue?

a.  Anna should increase the price of tulips.
(6.) Anna should decrease the price of tulips.

é”-‘[?zé!i"/: ["5 >1 D B TR IP
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Multiple Choice (20 Questions (@ 4 Points Each for a Total of 80 Points)

Use the following information to answer the next two (2) questions.

Consider a perfectly competitive industry where all firms are identical. For a
representative firm, the average total cost function is given by the following equation
where q is the quantity produced by the firm:

Average Total Cost Curve for the firm: ATC = 2q + g
The firm's marginal cost is described by the linear function:

Marginal Cost Curve for the firm: MC = 4q

10. Given that the firm is producing at its break-even (i.e. zero economic profits) point,
what is the quantity the firm produces (q) and what it is the firm's total cost (TC) at

that quantity? 47 ﬁlZEA/&éVE"/ Pa/uf ATC =mcC

g = 2 units, TC = $16 >
b. g = 4 units, TC = $32 ZZI' ’f = 42
c. g = 8units, TC = $64 ¥
d. g = 16 units, TC = $128 3 = 29

Bur HERE's THE REST 0F | ?';ZZ’-

THE PROOF 5 TC=2C2) 7 grg*

ATC = & j 7Cc=2C9t8 "\d 2 j =>ANJN£7‘M“!735(4)
29+ %7067 re= /6 226G 7 aansrop HeRE !

50,4'1 E 11. Now assume that the market demand curve shifts to the left. Given the above
TH /A//(/A/C— information and holding everything else constant, we are told that this representative
/ N0 LVED firm decreases it level of production relative to its initial level of production described
in the previous question. In the short run, if we know that the firm is still in the market
7H7S 1
o after this change in production, what is the possible range of values for the quantity,
ONE g, produced by this firm?

@ q=0 Firm witt PROPVCE AT LZpve
s g i E/ND WHERE AV =M C

. q>4 " .
<Ci- 322 7C = 22‘#2 Cl7eom LAST QUESTION)

JC= VCr Fe

\/C';LZL FC‘;?’
Avez 24
AVe =mC

9 v ¢ .
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NOT o) 12. Yulia and Laura have a winery and sell bottles of wine. In order to increase their
LBAD revenue, they want to change the price they charge for a bottle of their wine. Yulia
says decreasing the price they charge for their wine will increase their revenue. Laura

believes that increasing the price they charge for their wine will increase their

revenue. Which of the following price elasticities of demand would support Yulia’s

claim and Laura’s claim, respectively?
v
a.  Yulia believes the price elasticity of demand is 2 and Laura believes the price

elasticity of demand 1s 1. ¥
b. Yulia believes the price elasticity of demand is f‘and Laura believes the price
elasticity of demand is 2.X
c. Yulia believes the price elasticity of demand is O.Sxand Laura believes the
price elasticity of demand is 3,7 o
Yulia believes the price elasticity of demand is 3 and Laura believes the price

elasticity of demand is 0.5. (24
Yuua P1 J,p,> fe LAvVRA TP 7‘7'(
A 1 > &
lo |
i Ty
_? 3
& QV LQ & Q' Cﬂ
{ 0 Mé 13. Find the hlghest Utility Erlan can receive from spending his enfire income only on

chocolate and brownies. Use the following information to answer this question:
wardC
Price of one bar of chocolate: $4

Price of one brownie: $1

Income: $24

Utility Equation: Utility =Chocolate? x Brownies

Marginal Rate of Substitution of Chocolate for Brownies = MRS¢p =
_ MU; 2 Brownies

M Ug ~ Chocolate

a. Utility = 64 utils =4
b. Utility = 512 utils gc : AL : |2°f:‘1C+ 53 |
{5 k=

c. Utility = 256 utils

(4 Utility = 128 utils Tuc=2Y
yse THE 2EQUATIONS MUo'—ZB
10 FND (€ B) - Mug =
B
24= FC+2C
=Cc MVc - MUs
4 = C{; P 1B
=24
i A\ B o

C*8= (fl’)? B=2cC

M:
U= 16(x)= [RBUNLS
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Use the following information to answer the next two (2) questions.

Consider the avocado market in the United States described by the following
equations where P is the price per pound of avocados and Q is the quantity of
avocados in pounds: " 2P= R 1§

~— " P=ta+1¥

Domestic Demand Curve: Q=60-P —o P = 6o - (Q

Domestic Supply Curve: Q =2P - 15
The world price for avocados: Pw = $10 per pound of avocados

Suppose the U.S. government opens this market to trade while simultaneously
imposing a tariff of $5 per pound of avocados. Given this information and holding
everything else constant, what would the tariff revenue be from this policy?

a s25 P At P10 Q3 = 2010 15=5
b $50 o 500 Qo = 60 -10=5°

$10 oy
@ $158 T HEV AELISD Qbom= LUISIIS =1
li=1S Vrrnipe A2, = 6015745
P = 10 N P  Thr21FF REV= (5)(30)=%/50

754 R( B

5 A ©
IS y¢
Suppose the government’s first objective from imposing a tariff on avocados is to
maximize the government’s revenue from this tariff. Given this information and
holding everything else constant, what level of tanff will generate the maximum tariff
revenue possible in this market? P

a, Tariff = $2.50 per unit o
b. Tariff = $5.00 per unit

() Tariff = $7.50 per unit
d. Tariff = $10.00 perunit £, - J =25

= 52.5

/
§2.5 (2) USE €° CoNeEPT To 66 YJoure ATCVET..
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Use the following information to answer the next two (2) questions.

A consumer is facing a consumption problem involving two perfect complements,
coffee and sugar, which he prefers to consume in the strict ratio of 2 cups of coffee to
one unit of sugar. The income he has available to spend on these two goods is $168.
You are also told that the price of a cup of coffee is initially $6 and the price of a unit
of sugar is $2. The price of coffee falls to $3 per cup at some point allowing the
consumer to afford a larger consumption bundle than they could initially.

NoT THAT 16. Given the above information and holding everything else constant, find the quantities

RA) — of coffee and sugar that the consumer will buy after the change in the price of coffee
AcTvALLY ocety 2 cups r[ cqc#z, e

my Wy ) qcoffee = 42 cups of coffee, s, 54r = 21 units of sugar

C. Qcof ee — 82 (:ll].s()l CcO - ] . é/"* lt" "ua'l'c

Fved @6_)/@—) d. Geofree = 112 cups of coffee, qgygar = 56 units of sugary Av7 END V6 H 1ACImE

0"‘4() _’ }ﬂc-bffe-e =0k IoCoﬂQLf:- 3 i So 2 cu..rrcfjcpﬁQQ CosT< ke DoLLAes
PFM{MT'Z. /f&uﬁa,y- =2 ) Uﬂi‘?—ﬂp-ﬁmi _

LI, _NSHE (AN CONSUME 2} UNITS WHER
L EAck yNIT H&S 2 cupS OF o FFEE

4t UM OF SVeAR = 42 VPl OF
COFFEE 4 21 UNITY IF SVGATR
ﬂf[{ !5 17. Now, given the above information and holding everything else constant, find the
TuALLY difference in the quantities consumed of the two goods associated with the income
conc

Mo RE effect.
CHAUWSNGING

=
a. Aqcorfee = 10.5 cups of coffee, Aqgygar = 4.5 units of sugar . rﬂeﬂ
b. Aqcopree = 12 cups of coffee, Aggzqr = 9 units of sugar
C. AqGcosree = 9 cups of coffee, Aqgygqr = 4.5 units of sugar > IS
d.) Agcofree = 18 cups of coffee, Agqygqr = 9 units of sugar

(MiTiAWY  16¥=0C + 26
2 cvpsor LoFFEE 4 I SVEATL coiTs BlY
(6% - |2 UNITS SHE CAN AFFID
M 24 curs oF COPFEE 4 12 UNITS OFSUGAT

APFT 1S ALL INCOME erFe” = W(
PERFECT, ".COMPLEMENTT THERE IS NO
(o pSTITVTION EFF 8T

COFFEE Page 10 of 18
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Use the following information to answer the next two (2) questions.

Consider the market for gasoline. The supply and demand curves are given by the
following equations where quantity (Q) is measured in gallons and price (P) is
measured in dollars per gallon:

- L
Supply Curve for Gasoline: Q =4P — ) Pz «
Demand Curve for Gasoline: Q=200-P ~ (= 290 - Q

S(Wté Wokk~ 18. Suppose the government implements an excise tax of $10 per gallon of gasoline in

NoT HAD this market. What is the deadweight loss arising from the implementation of this
excise tax?
$30 s dgu- B
a
$40 §t= 04
P r_ P= 4o
c. $50 e - »
@ = Cfo’O)* [6o
d $60 [ _ e
w TAX.GT: Pz Q¥
D! Pz200-Q
pr'r‘L’z,IpA JQQH0= 2—”0"@
- Liwo)f)iYo S =190
pwe = o)) EY *Q%zﬁ%g): 3§(%)> (52
Q"
SomMEWLK - 19. The tax revenue for the government after implementing this excise tax is . Of this
PrRED! CTARLE ~ taxrevemue, is the consumer tax incidence.
a $98a(,'$304 o o ' i
b $1.520¥$304% [AX REVENVE w(f/’rx/t/m T) (@)
c. $I,5062}«1,216/ TAX 1O ENVE = @/O/UM{T} Cl.fl- UIWTS)
$1,5207$1,216

Tak ReVENVE = B /520
= ELIMINATES («) % Ce)
cr1 = A7 pegquired
so, /’:': 200 «(S?g
pT=200-152= ¥
eTl = C,%T,,O_c) (oD . ;
=(pe-40) (15
$(/52)
#120¢

o
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Use the following information to answer the next three (3) questions.

In a perfectly competitive industry, all the potential firms have identical technology
and, thus, the same cost function. You are provided with the following information
about each of the identical firms in the industry where q is the quantity produced by

each firm:
Total cost for a representative firm: TC = 6q% + 2q + 96
Marginal Cost for a representative firm: MC = 12q + 2 chX +{

HarnhER —  20.Suppose there are 12 identical firms in this market in the short run. Given this P= Q*e

BUT NOT information and holding everything else constant, derive the short run market supply =t
curve where Q is the quantity supplied in the market and P is the price per unit of the = G+2

THAT good. r MK SmarkeT Or
HARD @ Q=P-2 12 femlp) — — = ;
b. Q=P+2 ~m=l [@:P-2
c. Q=P12-1/6 o ”'2_ - ©
d Q=2P-1

{ =1 -H»eaM(,jN MArRKET SurpLy CONTAINS
Fg=" CqP) = Co’;)-ev 12,%)

Suppose you are also told that the market demand can be described by the following
equation where P is the price per unit and Q is the quantity in the market:

Market Demand Curve: P =114 — Q4
Recall that in the short run, firms cannot enter the market and, hence, the number of
firms will be 12 firms in the short run.

Somewor/C 21 Given this information and holding everything else constant, in the short run, how
many units does each firm produce? Does each firm eamn positive or negative

economic profit in the short run? mer S v SR P=Q+2
a. q =56 units of the good, pjmve economic profit mETD INSR: LPz=/11-Q
® q = 14/3 units of the good, positive economic profit Q+r2= 111" q p R m(
c. q =58 units of the good, negative economic profit 200 =112 M
d. q=29/6 units of the good, negative economic profit @ = =5¢ 5% ; &«
p= 5% {'
% MEWu2/< 22. Given all of the above information and holding everything else constant, the long run
market equilibrium price is . Each firm in the market produces __ units of
output. The number of firms producing in this industry in the long run is equal to s’:;k: /M & ,
= (2 7 ¢
v = (2
(@ P= $50‘5;r unit of the good; q = 4 units of output; 16 firms ng 561 7

b. P =$50 per unit of the good; q = 6 units of output; 16 firms I = = i .ﬂ. 'ri £y Cb)f

c. P =$62 per unit of the good; q =5 units of output; 13 firms 3 b v Snfﬁgzg‘
d. P =$62 per unit of the good q= 4 units of output; 13 firms

?
b éf{.Z{—-— >% _ e if§FY page 120118 mpr DEMMAD
Arc = mC ch, /20/)+z 5'0 1Y~ @>
6 f'zf Qé - /2,21#-2 "7

7 £Z’ 46’ /6 firms
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Use the following information to answer the next two (2) questions. ‘ : = CQ
2 W B
The domestic demand and domestic supply for fish in the Principality of Sealand is
given by the following equations where P is the price per unit of fish and Q is the
number of units of fish: 4629 = 249
Domestic Supply Curve: Q =0.5P ) '9 =2 Q Yo = ?@
Domestic Demand Curve: Q = 20 — 0.5P p=to- 28

The price of fish in the world market is $4 per unit of fish. Due to Sealand’s small
size, Sealand's activities have no impact on the world price of fish.
[E P= Bl2 wf OveTA, REVENVE wiw BE mAKIm /%é't)@ YSING
£O pong o BETTHIT OUTCcoME D IF Ry /29Q°= 1% ¥

23. The prince of Sealand decides to impose an import quota on fish. He plans to sell the =6
import license at a price that maximizes the revenue he gets from the proposed import 2 /mpoe’
quota. Given this information and holding everything else constant, what should the QPUeTA-0F
import quota be? SLUNITS

THIS 7S NOT 72 a. An import quota of 4 units of fish will maximize the revenue from selling the
HArD mucit import license.
}{;qu 1. )/ 04 v An import quota of 6 units of fish will maximize the revenue from selling the

CALULATE THE O import license.
c

An import quota of 8 units of fish will maximize the revenue from selling the

AL -
P am;\( / U/;_ R import license.
R BvA mMIRT d. An import quota of 10 units of fish will maximize the revenue from selling the
62;’«# __‘:" import license.
Vo/
No7 7299 24. Due to complaints from the people of Sealand, the prince is forced to change the

PAD

import quota on fish, such that the new import quota maximizes consumer surplus. To
maximize consumer surplus, the new import quota level should be set at:

a. 0 units of imported fish. = P - PPV = 4 T#s
b. 6 units of imported fish. F Quora e _
¢. 12 units of imported fish. Wi MAX/mIZE CoN fume2

16 units of imported fish. S s

ATP=¢ Q5= Ley)=2
Q= 20-L (P02 =/&
SET iMPORT BuorA AT &P-G°=(8-2=/
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Use the following information to answer the next two (2) questions.

Consider the planet “Chocolate” whose economic data is provided in the following

table. Use 2050 as the base year in all your calculations.

o R Nominal
Market Basket Hourlv Wage of Nominal Nominal Nominal
Year Used in Ch ly i I?g ! Price of Dark | Price of Milk | Price of White
Calculating the ocgvaek actory Chocolate Chocolate Chocolate
CPI OIKErs
2050 $10.00 $4.00 $8.00 $2.00 $5.00
3050 $80.00 $16.00 $8.00 $24.00 $40.00
S‘ oMB Wi (- 25. Given the above information and holding everything else constant, what is the
— percentage change in the real hourly wage of chocolate factory workers from 2050 to
AND KNOWLEDE 50509 The real wage . _Now  REAL
REQ V1RED - YeA CPlgyos YeAe wWAGE wage
a Increasé§ by 50%. ' LosD ico o T
NoT b. Increaseé‘by 300%. 20 _ 2050
[tAr? @ Decreases by 50%. ELAL -T‘—)-G,os)-SOo Joso 6 z
d. Decreases by 300%.
470 DN REAL WACE = z_:qjlooz V‘ca-lWa%t __.-—01599
¥
= ~-5067
Fu HRE'
CA% £ 26. Given the above information and holding everything else constant, which type of
LooKING chocolate experienced the largest percentage increase in real prices between 2050 and
A 30507
LARGEST
? a. Dark Chocolate experienced the largest percentage increase in real price
g i between 2050 and 3050.
IN CREAIE - ) Milk Chocolate experienced the largest percentage increase in real price
So me Word/C. between 2050 and 3050.
c. White Chocolate experienced the largest percentage increase in real price
between 2050 and 3050.
d. Dark, Milk and White chocolate all experienced a decrease in real prices
between 2050 and 3050.
DAteI- DAl MILK MiK WHITE W1 TE
2051 <2 < z 2 & I's
2 ()= 2 as) . YoCw
Sosv m )= | 2% = 3 4o ——-’” ~ 5
‘ Page 15 of 18
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NJ T HAKD - 27. A sho.e factor_\f has a total cost function given by the following equation where q is the
quantity of pairs of shoes:

JUusT 4 Total Cost for firm: TC = 5g° + 4q

VA1RA You are told that only labor is required for production of shoes, and the wage for each
oF unit of labor is $7. Using this information and the total cost function, how many units
waorek_ of labor does the factory need to hire in order to produce 2 pairs of shoes?

a. 2 units of labor

b. 3 units of labor I)C 3 -2

4 units of labor X
d. 5 units of labor TC= 5(2) + 4(v)

T¢C < 5CY) +5 =25
TC= # SPENT oN LABOR

GSPENT N LABR = Fr (ROFVRITS oF Lo
#2% = HF(HOFUNITSOF LABu2)

4 = fof Ty 0F LABIR

P 126D ICTASLE. 28 The market demand for oranges in Wisconsin is given by the following equation
EAT r where P is the price per unit of oranges and Q is the quantity of units of oranges:
Market Demand: Q = 100 — 0.25P
Consider two points on the demand curve for oranges in Wisconsin. At point A, the
price for oranges is $100 per unit of oranges, and at point B the price for oranges is
$300 per unit of oranges. Using the arc elasticity formula, calculate the price elasticity
of demand for oranges between point A and point B.

0.33
@1 Pt.A ¢ F=100 Pr B2 ¥ =300
¢ 15 ' L @ =100-"%(300)
3 Q:!OO-’ o< OO) @ TS
(p, = 75 4
E,° | @& fﬂ 25”??\ -50 1.
Q29 | ~ 1{?’?{ S UL o2 _Z'_..;/
Pr-1l) Sovo—00 %o 2~
Pvf—ﬁ 362)#107-‘3\
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Sumé€ 29. Eric’s utility function is given by the following equation:

worele ¥ Uxy) =xy
freor 0F , . i .
This equation tells us that Eric's Utility, U, is dependent upon how much of good X
01(/95’3 .= and good Y he consumes. You are also told that Eric's marginal utility from
5 WD}MG 0/  consuming an additional unit of good X and his marginal utility from consuming an
W additional unit of good Y are given by the equations:
/u W/A‘L MU, =y
50U RED MUy = x

Suppose you know that Eric maximizes his utility by choosing to consume 10 units of
X and 20 units of Y. Given this information, which of the following combinations of
prices and income are possible?

a. Px=$3 per unit of good X, Py = $3 per unit of good Y and income = $90
Px = $3 per unit of good X, Py = $1.50 per unit of good Y and income = $60
c. Px=$1.50 per unit of good X, Py = $3 per unit of good Y and income = $75
d. Px = $1.50 per unit of good X, Py = $1.50 per unit of good Y and income =

$45
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